

ON SOLUTIONS TO ITERATIVE DIFFERENTIAL EQUATIONS

Ayele Yaya and Benyam Mebrate¹

ABSTRACT. We present existence and uniqueness of solution for iterative differential equation $y' = f(x, y, y(g(y)))$ using Picard's iteration method by imposing some conditions on f and g . These conditions are sufficient conditions (not necessary conditions) for existence of solution. Furthermore, examples are provided to clarify existence and uniqueness of solution.

1. INTRODUCTION

In this article we will investigate existence and uniqueness of solution of IVP(initial value problem)

$$(1.1) \quad \begin{cases} y'(x) = f(x, y, y(g(y))), & \text{for } x \in [x_0 - a, x_0 + a] \subset \mathbb{R}, \\ \text{where } x_0 \in \mathbb{R}, a \in (0, \infty) \\ y(x_0) = y_0, y_0 \in \mathbb{R} \end{cases}$$

by Picard's iteration method, where

$$f : [x_0 - a, x_0 + a] \times [y_0 - b, y_0 + b]^2 \rightarrow \mathbb{R}$$

and

$$g : [y_0 - b, y_0 + b] \rightarrow [x_0 - a, x_0 + a], \quad b \in (0, \infty)$$

¹corresponding author

2020 Mathematics Subject Classification. 34A12, 39B12.

Key words and phrases. Iterative differential Equation, Picard's iteration method.

Submitted: 15.03.2021; Accepted: 03.04.2021; Published: 12.04.2021.

are continuous. Picard's iteration method is one of the method to show existence and uniqueness of solution for differential equations having initial condition [8, 11].

We can call equation (1.1) an iterative differential equation since iterates of the unknown function are involved. These equations are vital in the investigation of dynamical systems, infectious disease models, etc. Specific forms of such equations can, for instance, be found in [2].

There are related literature that discussed about existence and uniqueness of solution of IVP of type (1.1). We can mention, for instance, the existence of solution of the IVP

$$\begin{cases} y' &= f(x, y, y(y)) \\ y(x_0) &= y_0 \end{cases}$$

and

$$\begin{cases} y' &= f(x, y(h(x) + y(g(y)))) \\ y(x_0) &= x_0 \end{cases}$$

have been established in [9] and [8] respectively. Problem of type (1.1) has been occurred in physical problem, for instance in the study of electrodynamics [4]. In this manner several existence results have been appeared in [1, 3, 5–7, 10, 12] for iterative differential equation.

The article is organized as follows. In section 2 we discuss about existence of solution. In section 3 we present uniqueness of solution. Lastly, in section 4 we provide examples that illustrate section 2 and 3.

For later purpose we state the following lemma.

Lemma 1.1. *Suppose $\alpha(x), \gamma(x), \beta(t)$ and $\eta(t)$ are functions such that $\alpha, \gamma \in C(I_1)$ and $\beta, \eta \in C(I_2)$, where I_1 and I_2 are closed intervals in \mathbb{R} . Then $|\alpha^2\beta^2 - \gamma^2\eta^2| \leq A|\alpha - \gamma| + B|\beta - \eta|$, where $A = \max\{\beta^2|\alpha + \gamma| : x \in I_1 \text{ and } t \in I_2\}$ and $B = \max\{\gamma^2|\beta + \eta| : x \in I_1 \text{ and } t \in I_2\}$.*

2. EXISTENCE OF SOLUTION

Let $S = \{(x, y) : x \in [x_0 - a, x_0 + a] \text{ and } y \in [y_0 - b, y_0 + b]\}$. We consider the following conditions on the function f .

F-1 There exist $0 < M \leq 1$ such that

$$M = \max\{|f(x, y, y(g(y)))| : (x, y) \in S \text{ and } g(y) \in [x_0 - a, x_0 + a]\}.$$

F-2 $Ma \leq b$

F-3 There exist $L_1, L_2 > 0$ such that

$$|f(x, u, u(g(u))) - f(x, v, v(g(v)))| \leq L_1|u - v| + L_2|u(g(u)) - v(g(v))|$$

for $x, g(u), g(v) \in [x_0 - a, x_0 + a], u, v \in [y_0 - b, y_0 + b]$, where g satisfies the following conditions.

G-1 $g(y_0) = x_0$

G-2 There exist $0 < L_3 \leq 1$ such that $|g(u) - g(v)| \leq L_3|u - v|$ for $u, v \in [y_0 - b, y_0 + b]$.

G-3 $L_3b \leq a$.

We notice that

$$|g(y) - x_0| = |g(y) - g(y_0)| \leq L_3|y - y_0| \leq L_3b \leq a, \quad \forall y \in [y_0 - b, y_0 + b].$$

We now choose a picard sequence of functions as

$$(2.1) \quad \begin{cases} y^n(x) &= y_0 + \int_{x_0}^x f(x, y^{n-1}, y^{n-1}(g(y^{n-1})))dx \\ y^0(x) &= y_0 \end{cases}$$

for $x \in [x_0 - a, x_0 + a]$.

Lemma 2.1. Suppose f satisfies conditions **F-1, F-2** and **F-3**, and g satisfies conditions **G-1, G-2** and **G-3**. If $\{y^n\}$ satisfies (2.1), the following holds true.

- (1) $|y^n - y_0| \leq Ma, |g(y^n) - x_0| \leq Ma \leq a, n = 1, 2, \dots$ for $x \in [x_0 - a, x_0 + a]$.
- (2) y^n is continuous and differentiable on $[x_0 - a, x_0 + a]$ for $n = 1, 2, \dots$.
- (3)

$$(2.2) \quad |y^n - y^{n-1}| \leq G_n \frac{|x - x_0|^n}{n!} \text{ for } n \geq 1 \text{ and } x \in [x_0 - a, x_0 + a],$$

where G_n is defined recursively as

$$(2.3) \quad \begin{cases} G_1 = M, G_2 = L_1M + L_2L_3M^2, \\ G_n = G_{n-1} (L_1 + L_2L_3M + L_2L_3^{n-1}M^{n-1}), n \geq 3 \end{cases}.$$

Proof. (1) Let $x \in [x_0 - a, x_0 + a]$. Then

$$\begin{aligned} |y^1 - y^0| &= \left| \int_{x_0}^x f(x, y^0, y^0(g(y^0))) \right| \leq \int_{x_0}^x |f(x, y_0, y_0)| dx \\ &\leq M|x - x_0| \leq Ma, \end{aligned}$$

$$\begin{aligned}
|y^2 - y^0| &= \left| \int_{x_0}^x f(x, y^1, y^1(g(y^1))) \right| \leq \int_{x_0}^x |f(x, y^1, y^1)| dx \\
&\leq M|x - x_0| \leq Ma
\end{aligned}$$

and

$$\begin{aligned}
|y^3 - y^0| &= \left| \int_{x_0}^x f(x, y^2, y^2(g(y^2))) \right| \leq \int_{x_0}^x |f(x, y^2, y^2)| dx \\
&\leq M|x - x_0| \leq Ma.
\end{aligned}$$

And so

$$\begin{aligned}
|g(y^1) - x_0| &\leq L_3|y^1 - y^0| \leq L_3Ma \leq a, \\
|g(y^2) - x_0| &\leq L_3|y^2 - y^0| \leq L_3Ma \leq a
\end{aligned}$$

and

$$|g(y^3) - x_0| \leq L_3|y^3 - y^0| \leq L_3Ma \leq a.$$

Suppose $|y^{n-1} - y^0| \leq L_3Ma \leq a$ and $|g(y^{n-1}) - x_0| \leq Ma, x \in [x_0 - a, x_0 + a]$. Then

$$\begin{aligned}
|y^n - y^0| &= \left| \int_{x_0}^x f(x, y^{n-1}, y^{n-1}(g(y^{n-1}))) \right| dx \\
&\leq \int_{x_0}^x |f(x, y_{n-1}, y_{n-1}(g(y^{n-1})))| dx \\
&\leq M|x - x_0| \leq Ma
\end{aligned}$$

and

$$|g(y^n) - x_0| \leq L_3|y^n - y^0| \leq L_3Ma \leq a.$$

(2) Clearly y^0 is continuous and differentiable on $[x_0 - a, x_0 + a]$.

$$\begin{aligned}
|y^1(x) - y^1(t)| &\leq \int_t^x |f(s, y^0, y^0(g(y^0)))| ds, \quad x \in [t - \delta, t + \delta] \\
&\leq M|x - t| \leq M\delta.
\end{aligned}$$

So for a given $\epsilon > 0$ we find a $\delta < \frac{\epsilon}{M}$ for which y^1 is continuous. Using mathematical induction we can easily show that y^n is continuous on $[x_0 - a, x_0 + a]$. Next,

$$\frac{y^n(x+h) - y^n(x)}{h} = \frac{1}{h} \int_x^{x+h} f(s, y^{n-1}, y^{n-1}(g(y^{n-1}))) ds,$$

$x \in [x_0 - a, x_0 + a]$. As $h \rightarrow 0$, $\frac{dy^n}{dx}$ exist for all n .

(3) Let $x \in [x_0 - a, x_0 + a]$. Then

$$\begin{aligned} |y^1 - y^0| &= \left| \int_{x_0}^x f(x, y^0, y^0(g(y^0))) \right| \leq \int_{x_0}^x |f(x, y_0, y_0)| dx \\ &= G_1 |x - x_0|, \text{ where } G_1 = M, \end{aligned}$$

and

$$\begin{aligned} |y^2 - y^1| &= \left| \int_{x_0}^x f(x, y^1, y^1(g(y^1))) - \int_{x_0}^x f(x, y^0, y^0(g(y^0))) \right| \\ &\leq \int_{x_0}^x |f(x, y^1, y^1(g(y^1))) - f(x, y_0, y_0)| dx \\ &\leq \int_{x_0}^x [L_1 |y^1 - y_0| + L_2 |y^1(g(y^1)) - y_0|] dx \\ &\leq \int_{x_0}^x [L_1 |y^1 - y_0| dx + \int_{x_0}^x L_2 M |g(y^1) - g(y^0)|] \\ &= G_2 \frac{|x - x_0|^2}{2!}, \text{ where } G_2 = L_1 M + L_2 L_3 M^2. \end{aligned}$$

Since

$$\begin{aligned} &|y^2(g(y^2)) - y^1(g(y^1))| \\ &= |y^2(g(y^2)) - y^2(g(y^1)) + y^2(g(y^1)) - y^1(g(y^1))| \\ &\leq \int_{g(y^1)}^{g(y^2)} |f(x, y^1, y^1(g(y^1)))| dx + |y^2(g(y^1)) - y^1(g(y^1))| \\ &\leq L_3 M |y^2 - y^1| + \frac{1}{2} [L_1 L_3^2 M + L_2 L_3^3 M^2] |y^1 - y^0|^2 \\ &\leq \frac{1}{2} [L_1 L_3 M^2 + L_2 L_3^2 M^3 + L_1 L_3^2 M^3 + L_2 L_3^3 M^4] |x - x_0|^2, \end{aligned}$$

we have

$$\begin{aligned} |y^3 - y^2| &\leq \int_{x_0}^x |f(x, y^2, y^2(g(y^2))) - f(x, y^1, y^1(g(y^1)))| \\ &\leq \int_{x_0}^x L_1 |y^2 - y^1| dx + \int_{x_0}^x L_2 |y^2(g(y^2)) - y^1(g(y^1))| dx \\ &\leq \frac{1}{6} [L_1^2 M + L_1 L_2 L_3 M^2 + L_1 L_2 L_3 M^2 + L_2^2 L_3^2 M^3 + \\ &\quad L_1 L_2 L_3^2 M^3 + L_2^2 L_3^3 M^4] |x - x_0|^3 = G_3 \frac{|x - x_0|^3}{3!}, \end{aligned}$$

where $G_3 = G_2[L_1 + L_2L_3M + L_2L_3^2M^2]$. Next,

$$\begin{aligned}
 & |y^3(g(y^3)) - y^2(g(y^2))| \\
 = & |y^3(g(y^3)) - y^3(g(y^2)) + y^3(g(y^2)) - y^2(g(y^2))| \\
 \leq & \int_{g(y^2)}^{g(y^3)} |f(x, y^2, y^2(g(y^2)))| dx + |y^3(g(y^2)) - y^2(g(y^2))| \\
 \leq & L_3M|y^3 - y^2| + \frac{1}{6} [L_1^2M + L_1L_2L_3M^2 + L_1L_2L_3M^2 \\
 & + L_2^2L_3^2M^3 + L_1L_2L_3^2M^3 + L_2^2L_3^3M^4] |g(y^2) - x_0|^3 \\
 \leq & L_3M|y^3 - y^2| + \frac{1}{6} [L_1^2M + L_1L_2L_3M^2 + L_1L_2L_3M^2 \\
 & + L_2^2L_3^2M^3 + L_1L_2L_3^2M^3 + L_2^2L_3^3M^4] L_3^3M^3|x - x_0|^3
 \end{aligned}$$

and hence

$$\begin{aligned}
 |y^4 - y^3| & \leq \int_{x_0}^x |f(x, y^3, y^3(g(y^3))) - f(x, y^2, y^2(g(y^2)))| \\
 & \leq \int_{x_0}^x L_1|y^3 - y^2| dx + \int_{x_0}^x L_2|y^3(g(y^3)) - y^2(g(y^2))| dx \\
 & \leq \frac{1}{24} [L_1^3M + L_1^2L_2L_3M^2 + L_1^2L_2L_3M^2 + \\
 & L_1L_2^2L_3^2M^3 + L_1^2L_2L_3^2M^3 + L_1L_2^2L_3^3M^4 + \\
 & L_2L_3M [L_1^2M + L_1L_2L_3M^2 + L_1L_2L_3M^2 + L_2^2L_3^2M^3 \\
 & + L_1L_2L_3^2M^3 + L_2^2L_3^3M^4] + L_2L_3^3M^3 [L_1^2M + \\
 & L_1L_2L_3M^2 + L_1L_2L_3M^2 + L_2^2L_3^2M^3 + L_1L_2L_3^2M^3 + \\
 & L_2^2L_3^3M^4]] |x - x_0|^4 \\
 & = G_4 \frac{|x - x_0|^4}{4!},
 \end{aligned}$$

where $G_4 = G_3[L_1 + L_2L_3M + L_2L_3^3M^3]$.

We now suppose

$$|y^{n-1} - y^{n-2}| \leq G_{n-1} \frac{|x - x_0|^{n-1}}{(n-1)!}$$

for $n \geq 1$ and $x \in [x_0 - a, x_0 + a]$, where G_{n-1} is defined recursively as

$$\begin{cases} G_1 = M, G_2 = L_1M + L_2L_3M^2, \\ G_{n-1} = G_{n-2} (L_1 + L_2L_3M + L_2L_3^{n-2}M^{n-2}), n \geq 3 \end{cases}$$

Then

$$\begin{aligned}
& |y^{n-1}(g(y^{n-1})) - y^{n-2}(g(y^{n-2}))| \\
\leq & |y^{n-1}(g(y^{n-1})) - y^{n-1}(g(y^{n-2}))| + \\
& |y^{n-1}(g(y^{n-2})) - y^{n-2}(g(y^{n-2}))| \\
\leq & \int_{g(y^{n-2})}^{g(y^{n-1})} |f(x, y^{n-2}, y^{n-2}(g(y^{n-2})))| dx + \\
& |y^{n-1}(g(y^{n-2})) - y^{n-2}(g(y^{n-2}))| \\
\leq & L_3 M |y^{n-1} - y^{n-2}| + \frac{1}{(n-1)!} G_{n-1} |g(y^{n-2}) - g(y^0)|^{n-1} \\
\leq & L_3 M G_{n-1} \frac{|x - x_0|^{n-1}}{(n-1)!} + \frac{1}{(n-1)!} G_{n-1} L_3^{n-1} |y^{n-2} - y^0|^{n-1} \\
\leq & L_3 M G_{n-1} \frac{|x - x_0|^{n-1}}{(n-1)!} + G_{n-1} L_3^{n-1} M^{n-1} \frac{|x - x_0|^{n-1}}{(n-1)!} \\
= & [L_3 M + L_3^{n-1} M^{n-1}] G_{n-1} \frac{|x - x_0|^{n-1}}{(n-1)!}.
\end{aligned}$$

Hence

$$\begin{aligned}
& |y^n - y^{n-1}| \\
\leq & \int_{x_0}^x |f(x, y^{n-1}, y^{n-1}(g(y^{n-1}))) - f(x, y^{n-2}, y^{n-2}(g(y^{n-2})))| dx \\
\leq & \int_{x_0}^x L_1 |y^{n-1} - y^{n-2}| dx + \\
& \int_{x_0}^x L_2 |y^{n-1}(g(y^{n-1})) - y^{n-2}(g(y^{n-2}))| dx \\
\leq & \int_{x_0}^x L_1 G_{n-1} \frac{|x - x_0|^{n-1}}{(n-1)!} dx + \\
& \int_{x_0}^x L_2 [L_3 M + L_3^{n-1} M^{n-1}] G_{n-1} \frac{|x - x_0|^{n-1}}{(n-1)!} dx \\
\leq & \int_{x_0}^x [L_1 + L_2 L_3 M + L_2 L_3^{n-1} M^{n-1}] G_{n-1} \frac{|x - x_0|^{n-1}}{(n-1)!} dx \\
= & G_{n-1} [L_1 + L_2 L_3 M + L_2 L_3^{n-1} M^{n-1}] \frac{|x - x_0|^n}{n!} \\
= & G_n \frac{|x - x_0|^n}{n!},
\end{aligned}$$

where $G_n = G_{n-1}[L_1 + L_2L_3M + L_2L_3^{n-1}M^{n-1}]$.

□

Remark 2.1. The series $\sum_{n=1}^{\infty} \frac{G_n}{n!} |x - x_0|^n$ converges.

Lemma 2.2. Suppose f satisfies conditions **F-1**, **F-2** and **F-3**, and g satisfies conditions **G-1**, **G-2** and **G-3**. Let $\{y^n\}$ be sequence of functions satisfying (2.1). If $y(x) = y^0(x) + [y^1(x) - y^0(x)] + [y^2(x) - y^1(x)] + [y^3(x) - y^2(x)] + \dots$ for $x \in [x_0 - a, x_0 + a]$, the following holds true:

- (1) $y(x) = \lim_{n \rightarrow \infty} y^n$, for $x \in [x_0 - a, x_0 + a]$;
- (2) $y(x)$ is the solution of the integral equation

$$y(x) = y_0 + \int_{x_0}^x f(x, y, y(g(y))) dx, \quad x \in [x_0 - a, x_0 + a];$$

- (3) $|y(x) - y_0| \leq Ma$, for $x \in [x_0 - a, x_0 + a]$.

Proof. Let for $x \in [x_0 - a, x_0 + a]$.

- (1) We see that

$$\begin{aligned} y(x) &= y^0(x) + [y^1(x) - y^0(x)] + [y^2(x) - y^1(x)] + \\ &\quad [y^3(x) - y^2(x)] + \dots \\ &\leq y^0(x) + \sum_{n=1}^{\infty} G_n \frac{|x - x_0|}{n!} \\ &< \infty. \end{aligned}$$

Note that

$$\begin{aligned} y^n &= y^0(x) + [y^1(x) - y^0(x)] + [y^2(x) - y^1(x)] + \\ &\quad [y^3(x) - y^2(x)] + \dots + \\ &\quad y^n(x) - y^{n-1}(x). \end{aligned}$$

Hence

$$y(x) = \lim_{n \rightarrow \infty} y^n.$$

(2) Since

$$\begin{aligned}
 & |y^n(g(y^n)) - y(g(y))| \\
 = & |y^n(g(y^n)) - y^n(g(y)) + y^n(g(y)) - y(g(y))| \\
 \leq & |y^n(g(y^n)) - y^n(g(y))| + |y^n(g(y)) - y(g(y))| \\
 \leq & \int_{g(y)}^{g(y^n)} |f(x, y^{n-1}, y^{n-1}(g(y^{n-1})))| dx + |y^n(g(y)) - y(g(y))| \\
 \leq & M|g(y^n) - g(y)| + |y^n(g(y)) - y(g(y))| \\
 \leq & ML_3|y^n - y| + |y^n(g(y)) - y(g(y))|,
 \end{aligned}$$

$$\begin{aligned}
 & |f(x, y^n, y^n(g(y^n))) - f(x, y, y(g(y)))| \\
 \leq & L_1|y^n - y| + L_2|y^n(g(y^n)) - y(g(y))| \\
 \leq & L_1|y^n - y| + ML_2L_3|y^n - y| + |y^n(g(y)) - y(g(y))|.
 \end{aligned}$$

Consequently

$$f(x, y^n, y^n(g(y^n))) \rightarrow f(x, y, y(g(y))) \text{ as } n \rightarrow \infty.$$

Now,

$$\begin{aligned}
 y(x) &= \lim_{n \rightarrow \infty} y^{n+1} \\
 &= \lim_{n \rightarrow \infty} \left[y_0 + \int_{x_0}^x f(x, y^n, y^n(g(y^n))) dx \right] \\
 &= y_0 + \int_{x_0}^x f(x, y, y(g(y))) dx.
 \end{aligned}$$

(3) By the result we have obtained in (2),

$$|y(x) - y_0| \leq \int_{x_0}^x |f(x, y, y(g(y)))| dx \leq Ma.$$

□

We are now in a position to state and prove existence theorem.

Theorem 2.1. Suppose f satisfies conditions **F-1**, **F-2** and **F-3**, and g satisfies conditions **G-1**, **G-2** and **G-3**. There is a continuously differentiable function $y = y(x) \in [y_0 - Ma, y_0 + Ma]$ for $x \in [x_0 - a, x_0 + a]$, which is a solution of (1.1).

Proof. Take $y(x) = y^0(x) + [y^1(x) - y^0(x)] + [y^2(x) - y^1(x)] + [y^3(x) - y^2(x)] + \cdots$, where y^n is defined as in (2.1). Then since $y = \lim_{n \rightarrow \infty} y^n$ (see Lemma(2.2)) and each y^n is continuous on $[x_0 - a, x_0 + a]$ (see Lemma(2.1)), y is continuous on $[x_0 - a, x_0 + a]$. Since y satisfies the integral equation (see Lemma(2.2))

$$y_0 + \int_{x_0}^x f(x, y, y(g(y)))$$

and $|y(x) - y_0| \leq Ma$, and the function $f(x, u, v)$ is continuous on \mathbb{R}^3 , $y \in C^1[x_0 - Ma, x_0 + Ma]$ is a solution of (1.1). \square

Remark 2.2. The conditions on f and g are sufficient condition(not necessary conditions) for existence of solution to (1.1).

The following example illustrates remark (2.2). The function $y(x) = x$ is a solution of the IVP

$$\begin{cases} y' &= \frac{yy(y)}{x^2}, \quad x \in [1, 2], \\ y(\frac{3}{2}) &= \frac{3}{2}. \end{cases}$$

Here $f(x, y, z) = \frac{yz}{x^2}$ and $y \in [1, 2]$. Notice that $M = \max\{f(x, y, z) : (x, y, z) \in [1, 2]^3\} = 4 > 1$. This contradicts condition **F-1**.

3. UNIQUENESS OF SOLUTION

In this section, we prove the uniqueness of solution of problem(1.1).

Theorem 3.1. Suppose f satisfies conditions **F-1**, **F-2** and **F-3**, and g satisfies conditions **G-1**, **G-2** and **G-3**. Then the solution of the initial value problem (1.1) is unique.

Proof. Let $w \in C^1[x_0 - a, x_0 + a]$ be a solution of (1.1). Then w satisfies the integral equation

$$y(x) = y_0 + \int_{x_0}^x f(x, y, y(g(y)))dx, \quad x \in [x_0 - a, x_0 + a].$$

Now

$$|y^0 - w| \leq \int_{x_0}^x |f(x, w, w(g(w)))|dx \leq M|x - x_0| = F_1|x - x_0|,$$

where $F_1 = M$.

$$\begin{aligned}
 |y^1 - w| &\leq \int_{x_0}^x |f(x, y^0, y^0(g(y^0))) - f(x, w, w(g(w)))| dx \\
 &\leq \int_{x_0}^x [L_1 |y^0 - w| + L_2 |y^0(g(y^0)) - w(g(w))|] dx \\
 &\leq \int_{x_0}^x [L_1 \int_{x_0}^x |f(x, w, w(g(w)))| dx + \\
 &\quad L_2 \int_{x_0}^{g(w)} |f(x, w, w(g(w)))| dx \\
 &\leq \int_{x_0}^x [L_1 M |x - x_0| + L_2 M |g(w) - g(y_0)|] dx \\
 &\leq \int_{x_0}^x [L_1 M |x - x_0| + L_2 L_3 M |w - y_0|] dx \\
 &\leq \int_{x_0}^x [L_1 M |x - x_0| + L_2 L_3 M^2 |x - x_0|] dx \\
 &= [L_1 M + L_2 L_3 M^2] \frac{|x - x_0|^2}{2} \\
 &= F_2 \frac{|x - x_0|^2}{2},
 \end{aligned}$$

where $F_2 = L_1 M + L_2 L_3 M^2$.

$$\begin{aligned}
 &|y^1(g(y^1)) - w(g(w))| \\
 &= |y^1(g(y^1)) - y^1(g(w)) + y^1(g(w)) - w(g(w))| \\
 &\leq |y^1(g(y^1)) - y^1(g(w))| + |y^1(g(w)) - w(g(w))| \\
 &\leq \int_{g(w)}^{g(y^1)} |f(x, y, y(g(y)))| dx + |y^1(g(w)) - w(g(w))| \\
 &\leq L_3 M |y^1 - w| + F_2 \frac{|g(w) - g(y^0)|^2}{2} \\
 &\leq F_2 L_3 M \frac{|x - x_0|^2}{2} + F_2 L_3 \frac{|w - y^0|^2}{2} \\
 &\leq F_2 (L_3 M + L_3^2 M^2) \frac{|x - x_0|^2}{2}
 \end{aligned}$$

$$\begin{aligned}
|y^2 - w| &\leq \int_{x_0}^x |f(x, y^1, y^1(g(y^1))) - f(x, w, w(g(w)))| dx \\
&\leq \int_{x_0}^x [L_1|y^1 - w| + L_2|y^1(g(y^1)) - w(g(w))|] dx \\
&\leq F_2 (L_1 + L_2 L_3 M + L_2 L_3^2 M^2) \int_{x_0}^x \frac{|x - x_0|^2}{2} dx \\
&\leq F_2 (L_1 + L_2 L_3 M + L_2 L_3^2 M^2) \frac{|x - x_0|^3}{6} \\
&= F_3 \frac{|x - x_0|^3}{6},
\end{aligned}$$

where $F_3 = F_2(L_1 + L_2 L_3 M + L_2 L_3^2 M^2)$.

Now suppose that

$$|y^{n-1} - w| = F_n \frac{|x - x_0|^n}{n!},$$

where

$$F_n = F_{n-1} (L_1 + L_2 L_3 M + L_2 L_3^{n-1} M^{n-1}).$$

Then

$$\begin{aligned}
&|y^{n-1}(g(y^{n-1})) - w(g(w))| \\
&= |y^{n-1}(g(y^{n-1})) - y^{n-1}(g(w)) + y^{n-1}(g(w)) - w(g(w))| \\
&\leq |y^{n-1}(g(y^{n-1})) - y^{n-1}(g(w))| + |y^{n-1}(g(w)) - w(g(w))| \\
&\leq \int_{g(w)}^{g(y^{n-1})} |f(x, y, y(g(y)))| dx + |y^{n-1}(g(w)) - w(g(w))| \\
&\leq L_3 M |y^{n-1} - w| + F_n \frac{|g(w) - g(y^0)|^n}{n!} \\
&\leq L_3 M F_n \frac{|x - x_0|^n}{n!} + F_n L_3^n \frac{|w - y^0|^n}{n!} \\
&\leq L_3 M F_n \frac{|x - x_0|^n}{n!} + L_3^n M^n F_n \frac{|x - x_0|^n}{n!}.
\end{aligned}$$

Hence

$$\begin{aligned}
 |y^n - w| &\leq \int_{x_0}^x |f(x, y^{n-1}, y^{n-1}(g(y^{n-1}))) - f(x, w, w(g(w)))| dx \\
 &\leq \int_{x_0}^x [L_1 |y^{n-1} - w| + L_2 |y^{n-1}(g(y^{n-1})) - w(g(w))|] dx \\
 &\leq \int_{x_0}^x \left[L_1 F_n \frac{|x - x_0|^n}{n!} + L_2 \left(L_3 M F_n \frac{|x - x_0|^n}{n!} + \right. \right. \\
 &\quad \left. \left. L_3^n M^n F_n \frac{|x - x_0|^n}{n!} \right) \right] dx \\
 &= \int_{x_0}^x [L_1 + L_2 L_3 M + L_2 L_3^n M^n] F_n \frac{|x - x_0|^n}{n!} dx \\
 &= [L_1 + L_2 L_3 M + L_2 L_3^n M^n] F_n \frac{|x - x_0|^{n+1}}{(n+1)!} \\
 &= F_{n+1} \frac{|x - x_0|^{n+1}}{(n+1)!},
 \end{aligned}$$

where $F_{n+1} = F_n [L_1 + L_2 L_3 M + L_2 L_3^n M^n]$.

Since the series

$$\sum_{n=1}^{\infty} F_{n+1} \frac{|x - x_0|^{n+1}}{(n+1)!}$$

converges,

$$w = \lim_{n \rightarrow \infty} y_n.$$

Hence $w = y$. It follows that the solution is unique. \square

4. EXAMPLES

In this section, two examples are presented to illustrate theorem (2.1) and (3.1).

Example 1. Consider the IVP

$$\begin{cases} y' &= \frac{1}{2}[y + y(y)], \quad (x, y) \in S, \\ y(0) &= 0, \end{cases}$$

where $S = \{(x, y) : x \in [-1, 1] \text{ and } y \in [-1, 1]\}$.

Comparing this problem with (1.1) we have

$$f(x, y, z) = \frac{1}{2}(y + z), g(y) = y, x_0 = 0, y_0 = 0, a = 1 \text{ and } b = 1.$$

We see that

$$M = \max\{|f(x, y, y(g(y)))| : (x, y) \in S\} = 1, g(y_0) = x_0,$$

$$Ma = 1 = b,$$

$$\begin{aligned} & |f(x, u, u(g(u))) - f(x, v, v(g(v)))| \\ &= |u + u(g(u)) - v - v(g(v))| \leq |u - v| + |u(g(u)) - v(g(v))| \end{aligned}$$

and

$$|g(u) - g(v)| = |u - v|.$$

Here we take $L_1 = L_2 = L_3 = 1$. We observe that conditions **F-1, F-2, F-3, G-1, G-2** and **G-3** have been fulfilled. Thus the given problem has unique solution in $[-1, 1]$.

Example 2. Consider the IVP

$$\begin{cases} y' &= \frac{1}{16}x^2y^2[y(\frac{1}{2}y)]^2, (x, y) \in S, \\ y(\frac{1}{2}) &= 1, \end{cases}$$

where $S = \{(x, y) : x \in [0, 1] \text{ and } y \in [0, 2]\}$.

Comparing this problem with (1.1) we have

$$f(x, y, z) = \frac{1}{16}x^2y^2z^2, g(y) = \frac{1}{2}y, x_0 = \frac{1}{2}, y_0 = 1, a = \frac{1}{2} \text{ and } b = 1.$$

We see that

$$M = \max\{|f(x, y, y(g(y)))| : (x, y) \in S\} = 1, g(y_0) = x_0,$$

$$Ma = \frac{1}{2} < 1 = b,$$

$$\begin{aligned} & |f(x, u, u(g(u))) - f(x, v, v(g(v)))| \\ & \frac{1}{16}x^2|u^2[u(g(u))]^2 - v^2[v(g(v))]^2| \\ & \leq |u - v| + |u(g(u)) - v(g(v))| \quad \text{by Lemma(1.1)} \end{aligned}$$

and

$$|g(u) - g(v)| = \frac{1}{2}|u - v|.$$

Here we take $L_1 = L_3 = 1$ and $L_2 = \frac{1}{2}$. We observe that conditions **F-1, F-2, F-3, G-1, G-2** and **G-3** have been fulfilled. Thus the given problem has unique solution in $[0, 1]$.

ACKNOWLEDGMENTS

We would like to express our appreciation to the anonymous authors of the articles mentioned in the reference.

REFERENCES

- [1] V. BERINDE: *Existence and approximation of solutions of some first order iterative differential equations*, Miskolc Math. Notes, **11**(1) (2010), 13–26.
- [2] S. S. CHENG: *Smooth Solutions of Iterative Functional Differential Equations*, 2004-Dynamical Systems and Application, eds. H. Akca, A. Boucherif and V. Covachev, GBS Publishers & Distributions, 2005.
- [3] M. EDELSTEIN: *A remark on a theorem of M. A. Krasnoselskij*, Amer. Math. Monthly, **73** (1966), 509–510.
- [4] E. EDER: *The functional differential equation $x'(t) = x(x(t))$* , J. Differential Equations, **54** (1984), 390–400.
- [5] E. EGRI, I. A. RUS: *First order iterative functional-differential equation with parameter*, Stud.Univ. Babes-Bolyai Math. **52**(4) (2007), 67–80.
- [6] E. FEČKAN: *On certain type of functional differential equations*, Math. Slovaca, **43**(1993), 39–43.
- [7] M. LAURAN: *Solution of first iterative differential equations*, Annals of the University of Craiova, Mathematics and Computer Science Series, **40**(1) (2013), 45–51.
- [8] W. LI, S. S. CHENG: *A picard theorem for iterative differential equations*, Demonstratio Mathematica. **XLII**(2), 2009.
- [9] A. PELCZAR: *On some iterative differential equations I*, Zeszyty Naukowe Uniwersytetu Jagiellonskiego, Prace Matematyczne, **12** (1968), 53–56.
- [10] M. PODISUK: *On Simple Iterative Ordinary Differential Equations*, ScienceAsia **28** (2002) 191–198.
- [11] X. YANG AND Y. LIU: *Picard iterative processes for initial value problems of singular fractional differential equations*, Advances in Difference Equations, **2014** (2014), 102.
- [12] P. ZHANG, X. GONG: *Existence of solutions for iterative differential equations*, Electronic Journal of Differential Equations, **2014**(7) (2014), 1–10.

DEPARTMENT OF MATHEMATICS,
WOLLO UNIVERSITY
DESSIE
ETHIOPIA.
Email address: ayeleyaya106@gmail.com

DEPARTMENT OF MATHEMATICS
WOLLO UNIVERSITY
DESSIE
ETHIOPIA.
Email address: benyam134@gmail.com, benyam.mebrate@wu.edu.et